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Computer Applications 165

CYBER ETHICS

1.	 Write short notes on the following:

(a)	 Email netiquettes

(b)	 Open source software

(c)	 Intellectual Property Right

(d)	 Plagiarism

(e)	 Freedom of Information

(f )	 Digital Divide

2.	 Identify the incorrect statement about Email netiquettes and rewrite it correctly.

(a)	 We should keep the messages brief and concise.

(b)	 The subject line of an email should not contain a clear summary of the message.

(c)	 We should type the alphabetical characters of the messages in capitals. 

(d)	 We should not send unsolicited email messages to people on the Internet.

3.	 Identify the incorrect statement about Chat and IM Netiquettes, and rewrite it correctly.

(a)	 Messages should be too large.

(b)	 Posts promotional materials in chat groups.

(c)	 Instant messaging and chat enable real time interaction.

4.	 Guess who am I?

(a)	 I am proprietary software that is provided to users without any payment on a trial basis and is 
often of limited use.

(b)	 I am the legal right that covers the privileges of an individual for the security of his digital property.

(c)	 I am a unique digital ID that is used to verify the identity of a website.

(d)	 I am an e-signature authenticated through encryption and password that are uploaded through 
data devices.

(e)	 I am a very effective and practical way to safeguard the data being transmitted over the network.

5.	 Answer the following question:

(a)	 What is Software privacy?

(b)	 Give three causes of digital divide.

(c)	 Mention any 5 Chat and IM Netiquettes.

(d)	 What is OSS?
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